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1. The law relating to the effects of varying the inputs used by the firm is known as

Law of constant return,

Law of variable proportion,

Law of diminishing marginal utility,

Law of diminishing marginal rate of substitution.

2. In production process, the concept of law of variable proportion is related with

a0 o

Short run,
Long run,

Very short run,
Very long run.
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3. Inlaw of variable proportion, the state of technology is
a. Variable,
b. Advanced,
c. Given,
d. Primitive.
4. Atfirst total product increases at an rate.
Increasing,

Constant,
. All of above.
5. The law of variable proportion will be applicable only when input is
changed.
a. Al
b. One,
c. Two,
d. No.
6. For the first unit of labour employment, total product, average product and
marginal product are

a
b. Decreasing,
C
d



Zero,
Same,

One,
Increasing.

a0 o

7. The law of variable proportion will not be applicable when two inputs are always
used in a proportion.
a. Fixed,
b. Variable,
c. Same,
d. None of the above.
8. In production the law related with short run is known as
a. Law of returns to scale,
b. Law of diminishing return,
c. Law of fixed proportion,
d. Law of variable proportion.
9. When average product increases, marginal product is than average
product.
a. Less,
b. Greater,
c. Smaller,
d. None of these.
10. The law of variable proportion is derived from
a. Theoretical concept,
b. Assumptions,
c. Exceptions,
d. Practical experiences.
11. The law of variable proportion refers to AP and MP.
a. Increasing,
b. Diminishing,
Constant,
All of above.
12. The ratio of total product to the total input employed is known as
a. Average product,
b. Total product,
Marginal product,
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o

d. Production function.
13. Change in total product due to change in one extra unit of labour employment is
known as
a. Change in production,
b. Change in labour,



c. Marginal product,
d. Average product.
14. By employing all inputs in production process we get .
a. Total product.
b. Total output,
c. Bothofa)andb)
d. Average product.

15. The law of variable proportion is based on the possibility of varying the
between two inputs.

a. Ratio,

b. Percentage,
c. Number,

d. Product.
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